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2.)

3.)

4.)

5.)

7.)

8.)

10.)

11.)

12.)

13.)

14.)

15.)

16.)

What is the sum of the solutions to 2x2 + 5x —3 = 07?
if f(x)=x%*+x+2,then f(x+3) =

Simplify (2x? 4 3x — 6) + (x* — 18x + 6)

{"1 P 2}

6
Solve m =2

Given triangle ABC with A(—3,—3), B(—1,2). Find AB.

IF £ (x) = kx? — 4 and F(4) = 4, What is f(6)?

Flx) =% +1 and g(x) = x? — 1, whatis f(g(x))?
F(x) =3x+6 and g(x) =%, whatis f(g(é))?

F(x) =% +3 and g(x) = x — 2, Find g(f(3))

f() =x3%—4 and g(x) = —x*+7, Find f(=2) + g(3)
Evaluate logg 325

Expand log(x2/5)

simplify 3x+/8x — 4% +3x72x ifx=2

6
x“+4

=2 thenx*=?

10x?
Simplify 10x” +3x% =7

If 1/3 is subtracted from 3 times the reciprocal of a certain number the result is 4. Write the equation.




17.)

18.)

19.)

20.)

21)

22.)

23.)

24.)

25.)

26.)

27)
28.)

29.)

30.)

32)

33.}

Solveforx,ifx+a—k=20

6

2 .
x*=17,i
if %244

=72

Write the verbal equivalence to -332 - 3;; =4

If x + y = 4, find the slope of the line.

Simplify 2i(4 — 6i)

z
If x2 = 27x3, thenx =7

(3,5) is a point on a function, what point is on the inverse function?

Simplify =
ifwe =T — 0.8ws,and T = 16, wc = 0, find ws?

Hx?+8x+k=0findkifx=2.

Factor 6a?b* —10a?b? — 4ab*
Find y if x = —2fory = 3x% — 4x — 10

Simplify VI8v2
FA=P{+7r)findrif A=825andP =75
Simplify and then Factor: (2x2 + 3x — 6) + (x* — 18x + 6)

Factor Completely: 36x* — 8x® — 28x?2



34.)  Simplify. Write answer as a fractional exponents, W

35)  Whenx = 2, Find 3xv8x — a3 + 3x\T72x

36.) - Expand: 2 +V3)3 —A‘\/§)

37.) Findtheslope of 5x —y =3

38.) Lemonade is water and juice. How much water must be added to 10L of juice so the mixture is 90% juice?

39.)  Bruce reads “x” pages a day, Carmen reads pages a day more than Bruce, It take Bruce 12 full days to read
the book, Carmen takes 10 full days to read the book. How many pages a day does Bruce read?

40)  The sum of 3 complex numbers is 20 + 5i.
The sum of 2 complex numbers is 15 + 7i.
What is the 3 number?

Other Topics

SOH CAH TOA




Solving Right Triangles

Paraliel Lines

Slope

Geometric Sequence {Find Common Ratio)
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